itersom) SN/

doVvinci

20 Year Anniversary
Designer Series




1. Killerspin SVR daVinci table should be used as instructed in this manual.
Any misuse of the table or incorrect assembly could result in damage or injury.
In case you would like to move the table, first take off the net assembly, then
move the two table halves slightly away from each other to avoid any contact
between table tops. With two people lift and move each table half separately
to the desired place.

2. Thetable is heavy. Instruct others (particulary children) of any
potential source of danger, especially when assembling or
disassembling the table. We recommend this is done by two adults.

3. Caution: while assembling the product, keep out of the reach of
children (choking hazard - contains small parts).

4. Do not use corrosive or abrasive materials to clean the equipment.
In most cases, a slightly moist cloth is sufficient.

5. Please check the table for correct assembly before use.

Maintenance

1. Your Killerspin SVR daVinci table is designed for indoor use only and
should be kept in a ventilated space away from: direct sunlight,
extensive temperatures, corrosive environment, and rain.

2. Proper care and maintenance of your table's surface is required for long
term performance. Over time, your table's playing surface can build up
layers of dirt and grime. You can protect your investment with
the Killerspin table tennis surface cleaner - MyT Clean .

3. MyT Clean helps maintain superior conditions for optimal play.
It removes the dust, dirt, grease and fingerprints that can build
up and make your table look worn. Keep your table tennis surface
clean for the best bounce, and maximum shot control.
4.  Avoid excessive contact of the paddle against the table top during play.
5. Do not place hot goods on table top.
6. Do not stand, sit or place heavy goods on table.
7. Do not use the table for any exercise other then table tennis.

8. Do not move table around quickly on bumpy, rugged ground.

9. Do not use a wet cloth to clean the table.

For any further information, please contact your Killerspin consierge
by emailing: consierge@killerspin.com or by dialing: 1. 866.577.5291 ext 1



SVR daVinci Series

TABLE MODEL

Overview

Please read this instruction carefully before you start with assembly.

It contains important information relating to safety, assembly and
maintenance of your SVR daVinci table.

We recommend to keep this manual in case you need to order spare
parts or review the maintenance recommendation.

Assembly requries two adults throughout each stage of assembly.

Follow assembly instructions carefully.

Tools

People Average Time



SVR daVinci Series

TABLE MODEL

1. Lay the table box on smooth clean surface, with print on the box
facing up.

2. Open the lid and check to make sure you have all the parts:

Table Top x2 Table Base x2 Net-post Set x1

Foot Screw x8 Table Top Screw x8
M10 x 60

ey

Base Screw x4
M12 x 50

www.killerspin.com




2x Posts 2x Inner Tubes

3

2x Metal Rods 4x Tube Caps

1x Net 2x Metal Bead Chains

1x Net Height Gauge 2x Height Adjustment Knob




SVR daVinci Series

TABLE MODEL

Please read carefully.
Assembly requires two adults.

Assembly

1. Lay the table box on smooth clean surface, with
print on the box facing up. Using 2 people carefully
open the box and lay both table tops flat and face
down on a soft surface, blanket or piece of cardboard,
free of any debris, so you do not scratch the surface.
Please be sure that you find marking numbers for each
side of table top and base component (1 and 2).

2. Install Table Base according to the following steps:

step1 step2

Slide Part A to Part B. Make sure that part A slides
into the slots of part B.

step3

Using Table Base screw(see the
part list) connect part A to
part B and tighten.
Repeat this step on the
other set of Table Base.

www.killerspin.com



SVR daVinci Series

TABLE MODEL

3. Connect Table Top and Base according to the following
steps using Table Top screws(see the part list):

step1 step2
Carefully place the Table Base set Insert Table Top screws into their
onto Table Top frame as shown. slots and tighten to secure the Table Top.

Repeat this step on the other side of the assembly.

step3

Make sure that Table Top screws
are thightened.

4. With two people turn each table assembly up and slide the
two halves together.




SVR daVinci Series

Net Post Instalation

Inner Tube

Supporting Post

Groove

Height Adjustment Knob

Tightening Screw

TABLE MODEL

JOO| FREE ASSEMBLYQ

Remove the inner tube from the supporting post. Detach
the plastic cap from one end of the inner tube and
remove the metal rod.

Thread the metal rod through the sleeve on the end of
the net and slide into gap on the inner tub. Replace the
plastic cap. Insert the inner tube into the supporting
post - repeat process for the other side.

3

4

Fasten posts to each side of the table, one at a time.
Once one side is screwed tight, gradually fasten the
other post and tighten by angling the post onto the
table.

Attach metal beads to each side of the net cord and
insert beads into groove on post to gain tension on the
top edge of the net.

If necessary, use the height adjustment knob to raise or
lower the net height to the desired level (a net-height
gauge is included))




SVR daVinci Series

TABLE MODEL

Adjustments " RDJUSTMENTS |

This following step will show you how to adjust the height of each Table Top
so they are level.

Adjust the foot screw untill Table Top is level. To lower height of the table,
turn foot screw clockwise and vice versa to raise height.

All feet can be adjusted slightly to ensure a level playing surface.

2ft6in




CONGRATULATIONS!
This completes the assembly of the Killerspin SVR daVinci




SVR daVinci Series

TABLE MODEL

Dimensions

Length: 9ft (274 cm)

Width: 5ft (152.5cm)

Height: 2ft 6in ( 76 cm)

Table Top: Just short of 3/4in (18 mm)

Size: 63 x59x 15.7in

Include:

Table Top 2x, Table Base 2x,

Foot Screw 8x, Table Top Screw 8x M10x60,
Base Screw 4x M12x50, Net-Post Set 1x




Designed by Killerspin in Chicago

Killerspin LLC V4 )
33 W. Monroe Street Irlllerspl concierge:

e 1-866-577-5291

www.killerspin.com




